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PAPER II (A) MATHS & SCIENCE (TAMIL)

The aspect that shows the naturally occurring qualitative and

quantitative changes in the hereditary characteristics of an individual is

1.
2.
3.
4.

Growth
Innate ability
Learning

Maturation
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Main aspect of Chomsky’s theory

1.
2.

4,

Language development depends on intellectual development
Children have an innate universal grammar

Language development depends on the reinforcements
received by the child

Children acquire language by observing parents and others
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Ravi is able to recite the Mathematical tables and poems that he had
learnt in his childhood without mistakes. His memory is

1. Immediate Memory
2 Long term Memory
3. Logical Memory

4 Active Memory
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A child gets two Chocolates once in every week for his performance
in the class. This type of reinforcement schedule is called as

1. Fixed interval
2 Fixed ratio

3. Variable ratio
4

Continuous
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Find out the wrong statement with regard to learning

1. Learning leads to changes in behaviour

2 Learning is purposeful and goal oriented

3. Learning starts with birth and proceeds up to death
4

Behavioural changes occur through learning are temporary
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The aspiration to achieve greatness will make the person to achieve
that greatness. This is called

1. Achievement Motivation
2 Intrinsic Motivation

3. Aspirational Motivation
4

Extrinsic Motivation
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When a previously learnt task affects the retention of the task being

currently acquired is called as

1.

2
3.
4

Retro active inhibition
Pro active inhibition
Retroactive effect

Proactive effect
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The main aim of Evaluation according to NCF-2005

1.
2.
3.

To assess the teaching learning process.
To measure the scholastic progress of the student.

To measure the achievements of teacher and students in
teaching learning process.

To assess the processing of co-curricular activities in a
school.
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10.

Teacher acquainting the students who have passed 10" class
regarding the availability of courses according to their interests and
abilities - is known as

1. Vocational Guidance
2. Personal Guidance
3. Educational Guidance

4. Group Guidance
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Individual differences in intelligence are due to

1. Environmental factors only

2 Hereditary factors only

3. Hereditary and Economic factors

4 Hereditary and Environmental factors
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11.

12.

Psychological aspect that affects learning is

1.

2
3.
4

Level of aspiration
Gender difference
Maturation

Physical health
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Find out the wrong pair from the following

1.

2
3.
4

Bruner — Theory of instruction
Vygotsky — Instrumental learning
Carl Rogers — Experiential learning

Maslow — Hierarchy of needs
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13.

The leadership style of a teacher who motivates the children by
giving importance to their ideas and feelings and allowing them to
participate in the school programmes along with him is,

1. Permissive leadership
2. Authoritarian leadership
3. Participatory leadership

4. Laissez faire leadership
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14.

A person after reaching college repeatedly thinks whether he has
switched off the gas stove or not, whether he has locked the house or
not. This disorder is

1. Psycho neurosis

2 Neurasthenia

3. Common anxiety

4 Obsessive compulsive neurosis
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15.

16.

Suresh is unable to read and cannot understand what others read. His
learning disability is

1. Dysgraphia

2 Dyslexia

3. Dyscalculia

4 Dysphasia

&GIeQgmed Lgss Qweongl. LInT LRSS  Gurgid
gflwns  UfibgiO&neTenom e Sousnisd 2 6iterm
&SMHMEO SeMMLITH

1 LQETOBT T SoLINWIIT

2 LR6TV660EETOILIIT

3. 1Q6N0&TEOGWIT

4 le6ruSBLIerOlwim

One of the following is not related to psychomotor domain

1. Imitation
2. Naturalisation
3. Evaluation

4. Manipulation
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17.

Development is high in Infancy and low is Childhood and it
becomes high again when the child reaches Adolescence. The
developmental principle involved here is

1. Development is not uniform in all stages

2 There are individual differences in development
3. Development is continuous

4 Development is a process of interaction

auemsflinenid Gl LiBeusHed  AHPsLbn&eDd
LNeTemerL LI(HEUSSH6D SEDMDEUNTSHEYLD, &LDOLI
L(BOUSENS  HewLWbGUNg etorBD  HPHHISHLD
BH5GLD. @G SLmBueter eueniss] efld wpewm

1. ewenmgdness Slewevisg [Bewevseflegld Foms

BHEHHNG)
2. euemnsduded sevfluimet CoubHmiemDSH6T S(HSHSLD
3. ewenn&dl G\GMLAFHILITEOIS)
4. euennFFwImens ReWLEMNeNEsT 6\FWIEOLPEDMHUINEGLD



18.

19.

Cognitive development is also called as

1. Social development

2. Emotional development

3. Moral development

4. Mental development
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Minimum number of instructional hours specified for classes 6™ to
8" in an academic year according to RTE Act- 2009
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20.

The learning in which, the teacher makes students learn by themselves
by putting problems and questions before them to provoke thoughts
and allow brainstorming is,

1. Problem solving learning
2 Social learning

3. Inquiry based learning

4

Instrumental learning
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21.

22.

The method in which information is obtained from the same person
selected for study is,

1.

2
3.
4

Longitudinal method
Experimental method
Observation method

Introspection method
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According to L.M. Terman intelligence is

1.

Ability to change his behaviour towards the achievement of
goal

Abstract thinking ability

Ability to adapt to physical and social environment

Person’s innate ability to develop interpersonal relations
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23.

24.

Shyam doesn’t like to participate in family gathering but at the same

time he doesn’t want to disappoint his mother. The conflict here is

1.

2
3.
4

Avoidance - Avoidance
Approach - Approach
Approach - Avoidance

Dual approach - Avoidance
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Physiological trait that affects person’s personality

1.

2
3.
4

Skin colour
Health
Blood pressure

Hair colour
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25.

According to Kohlberg the reason for moral behaviour of the child
during the stage of conventional morality

1.
2.
3.
4.

To avoid punishment from the parents
Gaining acceptance and getting rewards from others
Gaining acceptance and avoiding censure by others

By self accepted principles
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The learners who learn lessons easily by acting and performing art
are called

1. Bodily Kinaesthetic learners
2 Visual learners

3. Auditory learners
4

Oral learners
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According to Piaget changes occur in Schemata due to
1. Assimilation and Accommodation
2 Accommodation and Equilibration
3. Adaptation and Equilibration
4

Adaptation and Organisation
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28.

29.

Latha’s knowledge about music doesn’t help her to drive a car, the
transfer of learning here is

1. Positive transfer
2 Zero transfer

3. Bilateral transfer
4

Negative transfer
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Physical factor that affects the development of a person is

1. Environment he grows
2 His relatives

3. Media

4 Religious rituals
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30.

The temporary support that parents provide to a child for a task until
the child can do it on his own is termed as

1. Co-operative learning

2 Zone of proximal development
3. Collaborative learning

4 Scaffolding
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OSLILIDMISE\HTEWILE  6T60TM  FoMedmD.  eo&SulLl
Hifleysefleo fmisemsCu WGHS OFvaITsHGL LD
S80S,

dnseng Qeunmlet SBLEMSL LDHMSHESTET0TL S|
1.  ydewrd
2. smuflwib

3.  IBML&LD

4.  IBIT6U6D



58.

59.

60.

BHHTOGHNS QUMM SEMLPLILIG| LDSHWITSTE)

1.  [BILS W&

2.  SedIwsLD
3. dmsems wsd
4.  [BT6U6D W|SLD

SP&H&MEID O\FeneT Ligsg 59, 60 eflennssenss

eflemLwierfl

S6flens 6T6UTSHESMIH EMSHEUTET — LDMTLI6D

HEUFLD ETEVISHEIHM(IH 6UMLIEDLD
Heflufeb Semwoser efilp - mHTedT

Gun QFWIWLID 6 LenLeiTest

LommLiled SH6usFDns: HeLpeus)

1. &6llens

2. 6UITUIELD
3. 6M&HEUITEIT
4.  uemLefigedr

S6flems 6IEDID E\FTEVAHS 6ETSHIEWHE 6IFT6D
1. yefuieo

2. 6UMLIEWLD
3. LDITITL60
4, SH6UTFLD



61.

62.

She became ‘flabby’ due to lack of physical activity.

‘Flabby’ in the above sentence means;

1. lacking vitality
sad or gloomy

depressed

Lol

persuasive and convincing

He became the pioneer of India’s software industry.

The word, ‘pioneer’ in the above sentence means;

1. a person who is the first to develop a particular area of
knowledge.

2. a person who lost his life for knowledge.

3. a person who got a job in software industry.

4. a person who bought software from a company.



63.

64.

65.

Choose the word that does not have a suffix.

1. conduct

2. official

3. proposal

4. identification

Choose the word with correct spelling.

1. Vorocious
2. Varocious
3. Voracious
4. Varacious

Words having the same spelling but different meaning are called;

1. homophones
2. homonyms
3. hypernyms
4. hyponyms



66.

67.

68.

Light changes its nature when passed through a transparent medium.

Choose the antonym of the word ‘transparent’.

1. positive
2. bright

3. opaque
4. unnatural

Choose the phrasal verb that means ‘ manage to understand.’

1. Bring down
2. Make out
3. Bring out
4. Broke down

"The Hindu" can be obtained in many big cities in India.

The purpose of using ‘can’ in this sentence is to express;

1. position

2. ability

3. permission
4. possibility



69.

70.

71.

Choose the correct sentence with respect to the use of articles.

1. Tables are made of wood.

2. The tables are the made of wood.
3. The tables are made of the wood.
4. Tables are made of the wood.

He deals ............... many business people.

Choose the correct preposition that fits the blank.

1 in
2. on
3. with
4. over

Napoleon, who won the French honour, died at St. Helena.

This sentence has;

l. a defining relative clause

2 a non defining relative clause
3. a noun clause

4 a conditional clause



72.

73.

74.

Choose the informal expression among the following.

1. Tell me where the market is.

2. Please show me the market.

3. Will you please help me in finding the market?
4. Can you please help me in finding the market ?

He comes every Friday.

Choose the correct question tag for this sentence.

1. isn’t he ?

2 does he ?

3. doesn’t he ?
4 is he ?

Choose the sentence that ends with a full stop

1. I know who you are
2. How good you are
3. Who are you

4. How are you



75.

76.

77.

“Shyam has eaten my chocolate,” says Arun.

Choose the reported speech of the sentence above.

1. Shyam says that Arun has eaten my chocolate.
2. Shyam told Arun that he has eaten my chocolate.
3. Arun told Shyam that he has eaten my chocolate.
4. Arun says that Shyam has eaten his chocolate.

Plenty of water ......... available here round the year.

Choose the correct verb form to fill in the blank.

1 1S

2. are

3. were

4, have

The child ......... by a dog last week.

Choose the correct tense form that fits the blank.

1. has chased
1s chased

was chased

had chased

Ll



78.

79.

80.

Choose the verb form from the following.

1. organise
2 tidy

3. Six

4 corn

Choose the linker that can be used to indicate contrast.

l. Yet

2. Hence

3. All the same
4. Likewise

He was tired. He lay down on the sofa.

The two sentences can be combined as:

1. Neither he was tired nor he lay down on the sofa.
2. Being tired, he lay down on the sofa.

3. He lay down on the road so that he was tired.

4. Although he was tired, he lay down on the sofa.



1.

82.

83.

Choose the grammatically correct sentence from the following.

1. Vikram prefers coffee for tea.
2. Vikram prefers coffee with tea.
3. Vikram prefers coffee to tea.
4. Vikram prefers coffee by tea.

Has a snake ever coiled itself round any part of your body

This sentence ends with;

1. a full stop
2 a question mark
3. a comma
4

an exclamatory mark

Choose the word that should begin with a capital letter.

1. american
2 poetry

3. news

4 week



&4.

85.

86.

He has taught us grammar.

The passive voice of this sentence is;

1. Grammar has taught us by him.

2. Grammar was taught to us by him.

3. Grammar has been taught to us by him.
4. We have taught grammar by him.

No other river in the world is .............. the Nile.

Choose the expression that fits the blank.

l. the longest
2 longer than
3. long
4

so long as

You address the receiver of a personal letter as;

1. Hello Sir
2. Dear Mr.
3. My dear
4. Dear Sir



87.

88.

9.

Choose the list of words in the correct alphabetical order.

1. do, does, did, done
do, did, done, does
did, do, does, done
did, does, done, do

Ll

Tourists from various parts of the state travel through Kurnool.

Choose the synonym of the word ‘various’.

1. some
2. all

3. many
4. any

Read the following passage and choose the correct
answer to the question.

Shivaji once attacked the city of Surat, which was under the
Mughals then. The Englishmen who lived in Surat ran away for
safety. Though they escaped, their belongings were taken away by
the soldiers of Shivaji to Raigarh, the capital of Shivaji’s kingdom.

The Englishmen ran away because.

1. They wanted to save their belongings.
2. They wanted to attack Raigarh.

3. They wanted to save their lives.

4. They wanted to meet Shivaji.



90.

Read the following passage and choose the correct
answer to the question.

Shivaji once attacked the city of Surat, which was under the
Mughals then. The Englishmen who lived in Surat ran away for
safety. Though they escaped, their belongings were taken away by
the soldiers of Shivaji to Raigarh, the capital of Shivaji’s kingdom.

Choose the true statement from the following.

1. Shivaji belonged to Surat.

2. Shivaji attacked Raigarh.

3. The Englishmen attacked Shivaji.

4. Raigarh was the capital of Shivaji’s kingdom.



91.

92.

The value of 10g 25 g
125

log 25 5t LD§|.JL|
125

.5
2. 3
3. 2
4. =

3

Sum of two rational numbers 1s (—8). If one of the rational numbers
18 (_T”j then the other is
Breor® NBspm erevTSHETl6tT EUDTHHID (—8) SHGSLD.

Sleucleuetorsafled €H  erevor (_T”jsrasﬂeb LDHEDIT(H

6T600T

1 98
9

2 6l
9

3. 93
9

4, 6L
9



93.

94.

95.

If A, B are disjoint sets, n(A) =5, n(B) = 3 then n(AU B) is

A, B 6163TLIEMEN R6UGUIT SH6T0TTRIS6IT, GLDEYILD n(A) =5,

n(B) = 3 er6vfl60 n(AUB) =

W N
S W W»h

Number of two digit numbers divisible by 8 is

‘8" Dh60 gilwns OUGSLILSFIQUI BTETTIR605:8;

6160015 61TI60T  6T600T600TISH6ME

1. 9

2 10
3. 11
4 12

If the two zeroes of 7x* — 15x — K are reciprocal to each other, then

the value of ‘K’ is

7x’— 15x — K 651 @uetoi® LpHZReSWIhIS6T Q60TMIS6\SMesTm)
FHEWEOSLD eTevfled ‘K’ 60T LDPHLILY

1. 7
2. 7
., 2
7
PR
7



96.

97.

98.

Cube root of 13824 is
13824 60T SH60TELPEVLD

1. 44
2. 34
3. 28
4. 24

First and last terms of an Arithmetic Progression are
10 and 50. Sum of the terms of this Arithmetic Progression is 480
then the number of terms in this Arithmetic Progression is

XM Sl BFHEOSMLIfl6T  (psed  OMID — SHewLS
2 muyser  wpemmBui 10 LDHMILD 50 ObSLD.
Sgewsnflesr 2 miiseflett  OwNgsD 480  erevfled
SssLfledT 2 miLiLserflest erevorevoflsenss

1. 8

2 10

3. 16

4 20

If x = V52 then the value of X+l 1s

J5+2 X

X = ﬁ;i eT6ufle0 x+§ 65T LDSLIL]
1. 18

2. 14

3. 845

4. 25



99.

100.

A 5 mts. 60 cm. high vertical pole casts a shadow of 3 mits.
20 cm. long and at the same time the length of the shadow cast

by another pole of 10 mts. 50 cm. high is (in mts.)

515. 60 61&.15. 2 wpwpemLW OFHGSHS
sLbLDMestg) 3 5. 2001&.15. BeripenLwl BLpsmed
ghUBSSHSNG eevfleo HBG &FLoUISHEO

10 15. 50 6)&.15. 2 wipwpemLW SWDUD aDHLBGSHID
BLpedledr Bemb (LSLLiTaerflev)

l. 18.375
2 8.64
3. 8.1

4 6

A shop keeper buys 80 articles for Rs.2400 and sells them for a
profit of 16% then the selling price of one article is (in Rs.)

QU  SHEOLHSMI 80 ON(HLEHEWET  €1H.2400 &S
aunmd, 16% QeomugHeo eflbpmed, @ M Berfleor

sflbmeflemev (erpLImuilev)
1. 30.60
2 34.80
3. 35.40
4 46.20



101.

102.

Five coins are tossed at a time and then the number of

possible outcomes are

@b HTETTLIMmISEmeT QG &FLOUISHHEO &revorBLELINE)

BMLEGLD FTHSWIDT6T eflewerneyseflet erevorennilgens

1.

2
3.
4

64
32
16
8

If P(A) denotes the probability of an event A, then

‘A’ et [Bapsfluflest [BaLpss6) P(A) 67607

SMISSLILILLITE0

. P(A)<0

2. PA)>1

3. 0<PA)<I
4. “1<PA)<1



103.

104.

The time in seconds taken by 150 athletes to run a 110 mts. running
race are tabulated below :

150 sL&6T elgnger 110 5. QRULILUBSWSDS &HL&HS
aBSHHOSMewI.  Cmub  efleimesefleo Swpeiter
Sl LeuenewTuled OSTBSHSLILL (BET6g).

Class 38 |14  [142- |144 | 146- | 148
Gl 14 | 142 |144 |146 |148 |15
Frequency 2 4 5 71| 48 | 20
B&LDE6u6TOT

The number of athletes who completed the race in less than 14.6
seconds is

Gumsetor. A Leuemetotulledt  LIQ,14.6 eflevTMieEHEmENT
lL@emmeuns  aTBSEISOSHTIL  SLE6THTTSE 6
6160060011861 8

1. 11
2 71
3. 82
4 130

The range of the data 14, 6, 12, 17, 21, 10, 4, 3 is
14,6,12,17,21,10,4,3 elenid sgeysefisir elga:
1. 11

2 17
3. 18
4 21



105. IfSin0= j—g then the value of sec O + tan O is

Sin 6 = j—g 6T60fl6D sec O + tan O 65T LDELIL]

21
49
»®
21
41
29
29
41

106. Two men are on either side of a temple of 30 mts. high observe its top
at the angles of elevation as 30° and 60° respectively, then the distance
between the two men is (in mts.)

305, 2 wpepemLw @wm Gesmuledlesr 2 gdlemuwl,
N&CHEMUINGS eHOIST PHewsuleo 2 eter GBrewor®

IBLIM&6IT wpeomGuw  30° DHMILD 60° eIm
@ssmevorhIg6rTlen SIT600TE 60T 6T eT6vfl60 SNBSS
SHaUmBSSD GeoLULLL GO (LBULigerfleo)

. 2043

2. 40

3. 4043

4. 603



107.

108.

The points D, E and F are the mid points of the sides of AABC. If
the perimeter of AABC is 16cm, then the perimeter of ADEF is (in
cms)

D, E bmmitd F SpBwi emerflasit AABC LIS&miserfleor
emLwIILeiTerflaser. GLDsYID AABC 61 &bmerey 1661&.15.,
eT6vfléd ADEF 601 &mere)y (61&.L5.-60)

1. 32
2 8
3. 4
4 2

ABCD is a cyclic quadrilateral. If Z4 — ZC =20°then £C is

ABCD eT6tTLIg ©@(@h 6ULLBMHSID ShGSLD.
ZA - £C =20 e16vfle0 £C 681 LDSLILY

1. 120°
2 80°
3. 70°
4 40°



109.

110.

The angle which makes a linear pair with an angle of 61° is

61° Gamevord 2 LetT Goifled Rewevor eTHLGSHILD

G&HT6voTLD
1. 29°
2 61°
3. 119°
4 122°

Two sides of a triangle are of lengths 5 cm and 1.5cm, then the

length of the third side of the triangle cannot be

R WPECaNISHetT  Quevti(®  LSSMmIsefledt  Her
Slemeyser 5 Q&S  omib 15 6&.Lb., eT6vfle0
SDWP&HCHTTMSSETT  epeiIDIes LSS — DHerme)
SlveON S5

1. 3.4 6\&.15.
2. 3.6 6\&.15.
3. 3.8 6\&.15.

4, 4.1 O\&.10.



111. The points A(7, 3), B(6, 1), C(8, 2) and D(9, 4) are the vertices of a

1. Trapezium
2 Rhombus

3. Rectangle

4 Square

A(7, 3), B(6, 1), C(8, 2) LDOMILD D(9, 4) e16MILD  Li6TerflseiT
B5601 2_5HGHEMGLD.

1. &ifleusd

2. SMUSHIILD

3. 6\F6U6USLD

4.  S&OD

112.  The point (4, —3) is in the quadrant
Leerfl (4, —3) SleWDW|LD HTEOLIGS

1. I

2 II
3. III
4 v



113.

114.

The difference of circumference and radius of a circle is 111 mts.
then the diameter of a circle is (in mts.)

B 6UL L 5B 60T SDMEITE) LDHMILD ObILD
SpBweupnpBenLCGuiwnesr  eflgHwingd 1115, etevfled
StsveuLgHetr 6L ( BLLTserlev )

1. 105
2. 21
3. 42
4. 84

The volume of the largest right circular cone that can be cut out from
a cube of edge 4.2 cm. is (cm’)

4.2 61&.15. eflerfibemLiss 6\&HITETOTL Q(H
SEIESITSSOBHE 66Ul TBSHHSHFalWl  sLaLMW
GmiTeu’L FalDLI6T SHeoTdiene] ( 61&18.” - 6 )

l. 9.7

2 19.4
3. 58.2
4 77.6



115.

116.

The author of the book “Data” is

1.

2
3.
4

Pythagoras
Euclid

Bhaskaracharya

Eudoxus

“Data” - 6I6QID L|SHSHSHWS 6I(LDSW6uIT

1.
2.
3.
4,

Lssmem
upserfli
LIT6rO&IITE&FTITUIT

L& S6M

The highest objective in cognitive domain is

1.

2
3.
4

Evaluation
Characterisation
Synthesis

Naturalisation

SiMleysTT HesHeT IHNPsULEF SHISEHTETTEsIS)

1.

LY G

LIEBOTL| 2_(H6UTE:&60
C\BTSSHSH60

SweoL| Bemeowinga60



117.

118.

“The project is a bit of real life that has been imparted into school” —

defined by

l. Parker

2. Stevenson
3. Kilpatrick
4. Ballard

“ Q\FW6LPLL LD 6T60TLIG)| ueTerfled 8n&&S
QFELWILLL Heorsdl euMPSHms” - 616018 St

I, UMT&S

2. 6NIe6N60TE 60T

3. Seounils

4. Gueorn®

This provides the lowest amount of learning as per Edgar Dale’s

Cone of Experience

1. Field Trips

2. Visual Symbols
3. Verbal Symbols
4.

Direct Purposeful Experience
“eILEHMCLED  SlepiLIus&alDL’ - Ll LISHSDDHS
SleTe) HHMEMeL JleflGsHssmIQUIg)
. SeTULW6TIHIGET
2. &nds@&MuiGseT
3. euMsemas@&MUIGSET
4. G Cores SlQLILIEHLUNEOTesT SHEDILIOUHISHET



119.

120.

Following aspect is a constraint for enhancing Mathematical Talent
1. Good memory

2. Mathematical Aptitude

3. Unpleasant Home Environment

4.

Teacher’s encouragement
SWISLLMLSH0  SDEMIDLISHOUTHEDET 2 (HEUTEHS
SEDLWITE 2 676 HDELD
1.  dmbs EMusEFHS
2. sewflslium_gdesr 5 HLLLD
3. Siemwdwbm 6L BEELpBemneo
4. OpAflwflesr 2engaepLLed

The Academic Standard to be tested through the following test item
“The monthly salary of Sudhakar is Rs.12,500/-. He spent Rs.9300/-

for his household expenditure. Find the remaining amount”

Connection
Communication

Representation — Visualisation
Reasoning — Proof

PR =

“GenaiT eretTLieufledT LDMGE &LDLONMD eh.12,500. HPHeo
el (& 6\FeoellHaEns H.9300 & 6\F6v6Y EFUISMIT
erevfled L5Hs O\FMemsHenw HTewors”.

- @561 epeold GangemenTUILLILIBLD &606f5SILD

1 OSMLITLBSSISH60

2. SS6UDEHET Fam|5e0

3. SlewLwrend &SMLBs60 - &M SLILBEE|5He0

4.  SMIEwID Fomise6v - [BepLilgse0



121. Area of irregular shaped objects like leaf can be measured with
1. Scale
2 Tape
3. Graph Paper
4 Measuring Cylinder

BemeoGUNETH QMRISHM  CUIRENPEMLUI  EWIMTIHL S6rfl6oT
LgLILIeTeneY  SetorLmiul LiIesTLIB6UG)

1. Slee|GsImev
2. SlemeymmLm
3.  euEDILILSHSMTET

4.  SleNBGLD MmQ



122. The change that takes place in a dry cell of torch

123.

1.

2.
3.
4.

Chemical energy is converted into electrical energy
Electrical energy is converted into chemical energy
Chemical energy is converted into mechanical energy

Mechanical energy is converted into chemical energy

Wiesremm)  eflemsdeo (LITTE6m60L 196v)

LWeTUGSSUILEBD 2 60 L65T8605560 [HEMLELIMILD

LDTHMLD

L.  Gad SLHmed LSETETTHMEVTS LDIHMLDENLBMS)

2. Uletreormmed Geud SpHMmevns LLAHMLDENLSMS)

3. Gaud SHMMeL 6HST SHMMEONs
LDTDHMLDENLEME]

4.  aBIT SphHmed Geud SHMHMevNs
LDTDHMLDENLEME]

Pitch of the sound depends on

l. Frequency

2 Intensity

3. Amplitude

4 Density

edlufletr SMdasgetend (Pitch) G&etTdg)

SpSMILILLBeTerng)
1 NP T6\6u6T0T
2 6e\Fnley

3. eliga

4. SOL15S



124. The law which states that “when mass is constant, acceleration of

125.

body increases with increase in resultant force ”

1.

2
3.
4

Newton’s first law of motion
Newton’s second law of motion
Newton’s third law of motion

Law of conservation of energy

“bnong Bewpuied eflemerey eflens SiPsfLLIS6oTTEO

WPBs&HW AHPsfae” aenr O\5fleflsaD 6

1

2
3.
4

BuplLesflett Suissefwedlett (pseo efld
BuplLesflett Suissefwedlett GuevorLmeug efld
BuyplLesflett Suissefwedledt epestpmeug efld
Spdmev SilefletTenip efld

Unit of work in M.K.S. system is

1.

2
3.
4

Erg
Joule
Newton

Dyne

M.K.S. wemmuied Geuemeoulett Heod

1

2
3.
4

6115
250
BupLL 6ot

6ML_60T



126. The heat energy required to change 2 gms. of water to water vapour
at constant temperature is (in calories)

Beweowimest  euliLBemeouiled 2  Spmbser B,

Bomeflwnsg  mOHowenLw  CHemeuwiment  6eulILLD

(@Ceomilzerflev)
1. 80

2. 540

3. 1080

4. 160

127. The acid present in cold drinks is
1. Acetic acid
2 Carbonic acid
3. Sulphuric acid
4

Citric acid
GefliTumestuserfled STevorLILBID HLS6OLD

1 OiFlgs SiSleoLd

2 &mGunevfles SiudleoLd
3.  georfles Slusleod

4 dlirfls Siusleod



128.

129.

The metals that exist in their free state are

1. Copper and Iron

2. Silver and Aluminium
3. Gold and Iron
4. Silver and Gold

5601155 Bemeouleo EaHIINS) SmesorLILI(BLD
2_Geonsmig6i

1 SMBPD HMID DL

2. Geuetefl HMID Sisgidlesfluid

3. SMm&D LOHMID S(HLDY

4.  QeueTerl OMID SHIHLD

When surface area of a liquid increases, the rate of evaporation
1. Increases

2 Decreases

3. Doesn’t change
4

Becomes half

SreugBet LD SETLILITLIL SiB&ifle&CUng)
Apefwngedetr efigb

L.  SSsfsadns

2. GODBEDG

3.  LAOOID 606D
4. uTSWNSME



130. Identify the chemical change among the following

[S—

Evaporation of spirit
2 Rusting of Iron

3. Sublimation of iodine
4

Melting of wax
Sp&aenLeuniled Geud LMHMESENS H6vorL)
1 eoLiifi. Speflwimseo
2. 8oy gieUsse
3.  ZCWmeedT LISMhISLDTS6D
4 OGS 2 (H&SIHEO

131. The best fire extinguisher is
1. Water
2 Green leaves
3. Carbondioxide
4 Sand

fbg SWIEHETOTLILITET 6T6dTLIS)
1. B

2 LIF6mE R6M60SH6IT

3.  &MTU6IT-6DL-h&Hem6er®
4 LDEBOTED



132. The fibre used in making swim suits and parachutes is

1. Cotton
2 Wool

3. Rayon
4 Nylon

unpmgL.  OMID  [BEFFED 2 emLBHemen  SHWIMflSsL
LIW6eSTLBLD SR6MLDS6IT

O EES
2. suefl
3. Gowimeot
4 6WIBEVITE0T



133. Fishes lay eggs in this part of the pond
1. Pond surface
2 Above the pond surface
3. Pond margin
4 Bottom of the pond

GesHetT Qb LGSO 6iTs6T WL enLulBSeTment.
1 G6eeSetT CLDMHLIMSLD

2 GOTHSHMISHEG GLD6D 2 _61TaT LIMSLD

3. &ensdent eflefibLl LGS

4. GOSN SlQUILITSLD

134. Total number of calf bones and bones of lower arm in a human are

esllFisefled, &med 6IEQIDLBET OHMID S WS
eTYILDL|S61Tl63T DS 6T6tuT6u0 15608
1. 4

2 2
3. 6
4 8



135.

136.

‘Haustoria’ are

1. Special roots developed by parasitic plants
2. Modified leaves of insectivorous plants

3. A kind of sea weeds

4. Umbrella shaped plants

“ammen@Lriwn ereorLILIB6eS)

1.  @U@ewrenlls FHTeursHe0 SreuorLiLI(BLD
Sevflsgieunment Geurm SiemLbLIL

2. LpFEU6TITETID STEUTSHB60 SHTeuorLILIBLD
Semeoudlest LDMHM)| 6UIQELD

3. &L60l0 SMETLILI(BLD SHeWens SHIeuLD

4. S6EOL 6UIgEN STEUTTRISET

Number of parts that the Stamen and the Pistil in Datura flower has
1. Stamen - 3, Pistil - 4

2 Stamen - 4, Pistil - 2

3. Stamen - 2, Pistil - 3

4 Stamen - 5, Pistil - 1

2empEFIDLYLENE0  SMEOILL@BD  WSIHESLD  LbHMID
G605hIG6Tl60T  6T6voT6t0fSH6MH

1.  LD&OBSD-3, &HeosHD-4

2 LD&OBSLD-4, 60&LD-2

3.  LD&OBSD-2, &E0&HD-3

4.  ID&OBSD-5, &Eo&HLD-1



137. Dr. Jonas Salk and Dr. Albert Sabin worked on this disease

138.

Lol

Tuberculosis
Polio
Plague

Smallpox

LIT&LIT.GZRMEuT60&mens DMMID LMSLIT.Speoum Geilesr
SmeuHD Spomuss Osws Grmu

1.

2
3.
4

SMEGHTUI
GumedGwirr
LNGerTs

ewrfliubemLp

The excess of Carbon monoxide in the air leads

1.

2
3.
4

to formation of Carboxyhemoglobin in humans
to blacken lead paintings
to reduce transpiration in plants

to acid rain

SMHMev, &LesT Gmemaensn® HNPsIfLLBermeo
gL eflemerey

1.

efisiseafleo  smiunsed  anGnaGeTmiledt
LGSO

SMTLGSHTEO SWIMTITEST 6eMWIBISENT
&(HEWLDWIEDLBMG)

sraugmiseafleo Bomell CUNES SewDSME
Siblevbenp OLMPIe)] eTMHLBGBME)



139. The kingdom that was not proposed in Copeland’s classification of

140.

life forms is

1.

2
3.
4

Monera
Plante
Fungi
Animalia

GamLieomevor. eTedtn 2 udifluied Sinflepmev
auemsLILGSSLILLL 2 ulflesr Sipsserfiev,
WPETODMPWILILILTS DTSt

1

2
3.
4

e\omeoflm
LNerTmesorGL

SITEITTEOTSH6IT
AHeoflGLoedlwurr

Choose the correct pair

1.

2
3.
4

Skeletal muscle - Non striated muscles
Smooth muscles - Non striated muscles
Cardiac muscles - Voluntary muscles
Voluntary muscles - Non striated muscles

gflwnesr Gzmeemw! SevorLm).

1.

2
3.
4

6TEQILDLS SHENSEHEIT - euflupm FHemEseT

GILDEITEMLDUITEDT  S6MTF&HEIT
BBWGHHENFH6IT - BWSGS SHDFHEIT
BUWSHSSHDFSH6IT -  eafwubm semss6iT

aurfllupym FHeweseT



141.

142.

‘Ducklings will follow the first moving object they meet after
hatching’. This type of behaviour is called

1. Instinct

2 Imprinting

3. Conditioning
4

Imitation

‘UTHFH GEHFSH6T, (pLemLemw i@ QeuerfiGu
EUHSEL6TT, Dleme (PSHE0lL LIMTSSHSFaloUl  [HSHIHLD
OUMBLEET 61FeaD LMemSUIGCW  BeWeusHEHLD
QFERD - QES HLSWSMW BEUeUTM)] SHeWLPLILIIT.
1.  mefl&@eord

2 LISWIEN6ES60

3. BuUbSMETSEGLLIBGSHED

4. etrubmiseo

Heart receives blood from

l. Superior and inferior vena cavae and pulmonary vein
2. Aorta and pulmonary vein

3. Pulmonary vein and pulmonary artery

4. Pulmonary artery and aorta

Wb, SLp&eTLemeuserfleOlhbg) B FHSH0
OLUMIBDS.

1.  Gwed, S 6WBEhdemr whHMID mewouiTed Hewr
2 LD&MGO6s! HMID mIEHIuiTed Hewi

3. mewruiged ewy WwHMID mHiewTuiTed GLoewf

4. meoguized Sesll WHMID LDSMHLDESH



143.

144.

The tissue of chorion and the adjacent part of the uterine tissue make
up
1. Umbilical cord

2. Placenta
3. Allantois
4, Amnion

LfluLsogdetr(chorion) B&EHSHEHLD, AN B0 (H&HSLD
S(HLOLIUIET SHHHSHEBD BENWIHE 2 (HEUTSHSEUS)

1L QI 6)&me

2. [BEHFHEISITIQ

3.  LpbUMeMD
4

Li6vfl&@LLD

The hormone that suppress hunger when you feel your stomach is
full
1. Ghrelin

2 Leptin
3. Adrenalin
4

Somatotrophin

BD  eauilm, 2 ewreflenimed MBI IUNHSHSLELNE,
LSlujemorieme) HLHSWD emmiGLDTesT

1. Sifledledr

2 6\60LIQ65T

3. A rlesrebetr

4 GanGomGLmLGrmlesr



145.

Internationalization of and commitment to certain ideals and values
takes place in the child in the following objective of Affective
domain is

l. Receiving

2 Valuing

3. Responding
4

Organization

LomevoTeuserfled  CometimID  GSMILILILL  @eoL Fwirmhigei
LDHMILD LDSLIL|S6IT ©_6MDWwIDs SNBSHS
B 6oL AWIMhISHEHSHSLD LDBLIL|SETH&HSLD o I'ur®
BHS5F0 eIl D ewiFS  FNBS  SLPEHSBEVITL
GSMISCHMEBLEI HEOLELMIBOS)

1 2 ' Brdss6e0
2. NGBS

3.  u8evedlgse0
4 R(HHIHEWLDESE0



146.

147.

One of the following belongs to the 10 core elements of curriculum

construction

1. Social discrimination

2 Nationalism

3. Removal of superstitions
4 Equality of sex

SLPHETTLOUDNNED Q60N HENELFHSL L 6ulgauemLDLILN60 10
WP&HBW SIDSTHISEBHLEIT CVSTLITLEDL LIS

1 gelps Geunmiemid

2.  Gsdlw eunsld

3.  @pL [HDLNGDEHHENET [BEHGSH60

4.  Opevur, 6IIET SLDSGHIEULD

The best method to teach ‘Periodic table of elements’ is

1. Laboratory Method

2. Heuristic Method
3. Lecture Method
4. Project Method

‘GeofILDMmIG6TlET SpheuUTHeTT D Leuemeror (Heofllo eurflens
SIL6UED6T) 66D LIMLEMS &HDLSHs fnbs wWemm
1 LM G&F NS 6neoTFSTEme0  (LPEWM

2 &6UTLM)  (LPEmM

3. eflifleyewr wemm

4. QFWELSLL (PO



148.

149.

The common size of letters on the chart used by the teachers in the

classroom should be (in cms)

1. 1to3

2 2to4

3. 3to4

4 5t0 10

S dflwir auGLILIEmMUSleD LIW6STLIBSHSILD
euemILIL GG merflev &STT6T0TLDTS ET(LDSSISHSH6IT
B HE&Ceustoniowl Semey E&.L5-6v)

L 1 apseo 3

2 2 Wz 4

3. 3 wpsed 4

4 5 wpseo 10

Quotations are not required to purchase the materials that are to be
entered in the following register

1.

2
3.
4

Consumable stock register
Temporary stock register
Non breakable stock register

Breakable stock register

SpsaetL  LHGauliged LHe] OFWWD  EIIMIHLEHEmET
QMBIGaISNHS s i@ 0fs  (Quotations)
G5 emeuUT606m60

1.

2
3.
4

mIsTey SmULLLSC®

Sh&medls SmUuILSCa®

2 emLwm ewm@Lserflenr mLyULSCau®
2 ewLW|D eWm@pL&erflesr @mUuyLLSGau®



150. Preparation of question paper with these type of questions is easy

1.
2
3.
4

JONIY:S

Essay type of questions
Classification questions
Short answer questions

Multiple choice questions

6UESHUIITEOT 6060TMT&HHEM61TES

eflevngsnemen SWiflgseo ererflemLbuwimess)

1

2
3.
4

SLBenr 6NesTm&HSH6iT
EUMSLILBSHGID 6H6vTTE:S6IT
dm eflevTnas6iT

Leo6)sifley eflesTma &6

6\&mevor(B



